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Boos ow % % % BH KB Don THA ©p
BB B A B E 6 ROBBRITT 37650 0500 9.350 0.200 0500
Bofr B T @ 6 MMLUSHABSST 35950 8900 9.300 8.850 9400
B3 B & 5 5 SROKEITT 35.650 9.100 9.450 8.000 9.100
BAM = # R b6 SROKBRHTT 35.600 9.400 8.800 8.200 9200
BAL B th % 15 6 HARKE 35.600 9.000 9.250 8.550 8800
BAL % O % B 6 MBLUSHARSST 35600 9200 9.650 8.050 8700
W76 7 B M B 6 ol3EVSMOKESST 35500 9400 9.400 8400 8300
BEH ® B H4% 6 BG-S ¥ U #R 35350 9200 8700 8450 9.000
B8l & H B 5 5T LB 35.350 9.000 8450 8.700 9.200
BIOW /N # # F 6 MABLUSHAERSST 35100 8600 9.250 7.950 9.300
BIOW 1L & = ¥ 5 MBLUSHAERSSJ 35100 9000 9.150 8450 8500

B % B B 5 solaEVSMOABSST  34.600 8.900 9600 7.100 9.000
% & £ % 6BIG-SUUUr(BA  34.200 8800 8950 7.650 8800
INEY) B B 6 BUa-7ARy57 33950 8900 8100 8750 8.200
BT B B % 3 MBCUSHARSST 33650 8.700 8550 8.200 8.200
% B 7 6 MALUopMEs57 33600 8900 8450 7550 8.700
Fl B X D 6 HAREE 33450 8.600 8400 8.150 8300
£ 8 7o T 6 SROKEIST 33200 8.600 8400 7.900 8300
B & b 3 HTshEGS 33.100 8.800 8.150 8.250 7900
K W 6 SoaEYSVCHES5T  32.900 9.300 7.400 7500 8.700
B F & 3 SROMEITS 32.900 8500 8400 7.000 9.000
IR BT 5 HERHE 32.900 8400 8000 8.500 8000
B 5 B @5 SoaxYSVORES7  32.850 9.000 8.750 7600 7500
H & % % 6 SROKEIST 32.650 8.400 8750 7.400 8.100
B B R 71 b HARAE 32.650 8.600 7950 7.500 8600
Bk 2 HERAS 32.350 8.400 7950 8.100 7900
= )l B E 6 SoaFYSVCEES57  32.150 8800 8.000 7450 7900
B A B £ 5 B6-S yoUr Bk 31850 8.600 7.700 7.750 7.800
NIl B 3 4 HERRE 31.800 8.100 8.100 7.800 7800
B3 R 4 BT BAREGS 31.750 8.900 8350 7.000 7500
V% B 9 6 SoaFYSVCHES5T  31.750 9100 7.000 7.550 8.100
M B B B 4 BT BAREGS 31.050 8.700 8450 7.300 6600
& B # B 5 AEGymnastios 30.250 8.400 6400 7.450 8000
£ 5 0 R 3 ABUA-7##Es57  30.200 7600 7500 8.000 7.100
B0 % B 5 HILAHREGS 30.100 8.600 7.750 7.350 6400
5 B T ¥ 3 MAGymnastios 29.750 8.200 6950 6.700 7900
* 8 K M b AMHRALYUAR—Y55T 29.600 8.100 7350 7.150 7.000
% B 4 ALCAR—r57 29550 8100 7.450 6.600 7400
B B BAE 4 BERSEUAR—Y55T 29.450 8200 7600 7050 6.600
% % 3 ARAHEYAR—Ys57 29.250 8700 7000 7.050 6500
5 W % M 6 AMRAEUAL—Ys5T 29.100 8300 6900 7.100 6800
R & % K 6 AHRHLAR—Ys5T 28500 8200 7200 6.900 6.200
B & % % 6 AMHRALUAR—Ys57 28450 8500 7050 7.300 5600
IR % B 5 ALCAR—Ys57 26500 8200 7.100 4600 6600




